R—5 2 FEREEHRR

19914:#% (10H27H)

BHRAES 27,517,280

RERMREITHR

xR 11,887,865

REX 43.20%

EUWREH 11,474,846

HREE 96.53%

B BER EALES
UD 21 21.00%
NSzZZ"S" 12 12.00%
PSL 9 9.00%
WAK(Wyborcza Akcja Katolicka) 9 9.00%
POC(Porozumienie Obywatelskie Centrum) 9 9.00%
PL(Porozumienie Ludowe) 7 7.00%
KLD 6 6.00%
KPN 4 4.00%
SLD 4 4.00%
PChD(Partia Chrzescijanskich Demokratow) 3 3.00%
ChD(Chrzes$cijanska Demokracja) 1 1.00%
MN 1 1.00%
UWL(Unia Wielkopolan i Lubuszan) 1 1.00%
R 13 13.00%
Bt 100

19934:#% (9F198)

ZHRAESE 26,677,302
BHERERITH

st 14,408,367

HEE 52.08%

AUNREH 13,958,535

AWMEER 97.07%

SLD 37 37.00%
PSL 36 36.00%
NSzZ"s" 9 9.00%
UD 4 4.00%
BBWR 2 2.00%
UP 2 2.00%
KLD 1 1.00%
SR 9 9.00%
= 100

1 R—D

[(R—Z R bR R]



19974:#% (9F27H)

BRAEL 28,409,054
RERMBREITHR

HE; 13,614,101
BER 47.92%
AMEEHR 13,317,952
AMEER 97.82%

BRE EEW EBEE
AWS 51 51.00%
SLD 28 28.00%
UwW 8.00%
ROP 5.00%
PSL 3.00%
SR 5.00%
= 100

20014F:#% (9H23H)
EIRAEE 29,364,445
BRERMBRITHE | 13,590,426
HEE 46.27%
wE 13,551,502
AMEE 13,072,323
BRER 96.46%

BUR EEW BEE
SLD-UP 75 75.00%
Blok Senat 2001¢¥) 15 15.00%
PSL 4.00%
Samoobrona 2.00%
LPR 2.00%
SR 2.00%
=) 100

E) Blok Senat 2001[&AWSP, PiS, PORP, ROP, UWD & E&#H 1) X b

200545 #Z (9A25H)

EREES 30,229,031
ERERMRITE | 12,262,311
BER 40.56%
BES 12,239,019
AMEE 11,812,965
AUMZESR 96.52%
BUR EEN EEE
PiS 49 49.00%
PORP 34 34.00%
LPR 7 7.00%
Samoobrona 3 3.00%
PSL 2 2.00%
SR 5 5.00%
=) 100

2 R—Y

[(R—Z R bR R]



* SEIORERSIHRE

RERTHTEEL, BEYERICEHEATVS

20074F:#% (10A218)
BRAEL 30,615,471
BERMRITH | 16,494,503
BER 53.88%
%2 16,475,672
AMEEHR 16,190,804
AMEER 98.27%
PORP 60 60.00%
PiS 39 39.00%
SR 1 1.00%
=1 100
201145:8% (10A9H)
ERAEE 30,762,931
BERMREITE | 15,076,012
HE 15,048,260
BER 48.92%
AMEES 14,531,462
AMEER 96.57%

* SEIORERSIHER

RERTHTEEL, BRYERICEHEIATVS

PORP 63 63.00%
PiS 31 31.00%
PSL 2 2.00%
FHIR 4 4.00%
=11 100
20154E:EE (10H25H)
EREES 30,762,931
HERMFEITE | 15,562,749
BES 15,593,033
mEE 50.69%
BUEES 14,988,086
BAUEER 96.12%

B EEN EEE
PiS 61 61.00%
PORP 34 34.00%
PSL 1 1.00%
FHIR 4 4.00%
=1 100

3 R—y

[(R—Z R bR R]



